O

N S = ~
SFHES8A OY4F5S arR
2023 &£ 8 A1 H (k) ~ 2023 &8 A 31 B (K)
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HDCPEPR: (5) 40.0 (Z) 40.0 5 BEIERL - NET-HDCP - £ BB - A kv s
HDCPFRE: (B) -5.0 (%) -5.0
B4z B EA OUT |IN GROSS| HDCP | NET JIE f52 HHEA ouT |IN GROSS| HDCP | NET =¥ iva B E A ouT |[IN GROSS| HDGP | NET
B B |aA = 38 50| 88| 20.4] 67.6|AB [T 50| 43| 93] 21.6| /1.4 1216 [MA =& 50| 44| 94| 21.6| /2.4
ERG on A 38 43 81| 13.2] 67.8|AE 6261 |[AX K& 38 55 93] 21.6| 71.4 122 |2 XE 47 47 94| 21.6| 72.4
36 #EH Bkt 39| 40| 79| 10.8] 68.2|AB 636 |[BH & 53] 46| 99| 27.6] /1.4 123f |RBE &sh 78] 52| 100] 27.6] 712.4
4451 ] I = 41 37 78] 9.6| 68.4|AE 640 | BE 37 37 74| 2.4] 71.6 12441 |[EHR E2 48 52| 100| 27.6| 72.4
5 =% Bi= 38| 39| 77| 8.4 68.6|AB 656 | AKX 39 41| 80| 8.4 71.6 12560 |sF& (&R 50| 50| 100] 27.6] 72.4
64 |FE)Il  HfEAE 40 40 80| 10.8] 69.2|AE 6661 |=A FIEH 44 36 80| 8.4 71.6 12660 |[BH Kok 46 541 100 27.6| 72.4
6L Tt TR 35| 38| 73| 3.6] 69.4AB 6/ | &R —% 43| 43| 86| 14.4] 71.6 1276 |=h #F 56| 50| 106| 33.6| /2.4
861 |1 HKaE 40 44 84| 14.4] 69.6| AE 680 (MR BE— 4 45 86| 14.4| 71.6 12861 | K& 1&§H 39 42 81| 8.4| 72.6
i [RE =KX 43| 41| 84| 14.4] 69.6|AB 60 |1l H—ER 45 41| 86| 14.4] 71.6 1296 |AH X5 38 43| 81| 8.4] 712.6
106 | K& E#H 47 43 90| 20.4| 69.6|AE 106 [alEy HE 40 46 86| 14.4] 71.6|AE 13047 |HgE = 43 38 81| 8.4 72.6| AE
11 |=:& 22| 48] 90| 20.4] 69.6 T R &n 12| 44 86| 14.4] 71.6 1317 |2 f1a 40| 41| 81| 8.4] 72.6
1260 |[thiy B&Z 40 37 71\ 7.2] 69.8 1260 [RAR RBF 4 45 86| 14.4| 71.6 1324 [ # 39 42 81| 8.4| 72.6
136 |iml Rk 40 37| 77| 71.2] 69.8 136 R R 45| 53] 98] 26.4] /1.6 1336 B2 R 7] 40| 87| 14.4] 712.6
14 [#H EA 34 42 76) 6.0/ 70.0 Mi | KE ER 37 36 73] 1.2] 71.8 1344 | KRE Hsh 41 46 87| 14.4] 72.6
152 |80 # 4 41 82| 12.0| 70.0 1561 |ER —4% 40 39 791 1.2] 71.8 1351 |BH XA 43 44 87| 14.4] 72.6
1660 |ZE BE 36 46 82| 12.0] 70.0 1660 [{RiE IEE 40 39 79 7.2 71.8 1364 [HFR B3 4 46 87| 14.4] 72.6
1762 /N /L 4 4 82| 12.0| 70.0 NG = 44 4 85| 13.2| 71.8 13761 [IRE MF 40 47 87| 14.4] 72.6
186 ke =|A 43 39 82| 12.0] 70.0 186 AR FIEE 45 40 85| 13.2| 71.8 1384 [ F A 45 42 87| 14.4] 72.6
196 |Bf8 M 43 45 88| 18.0| 70.0 196 [RE = 40 45 85| 13.2| 71.8 13961 Xk BB 42 45 87| 14.4] 72.6
2061 [ BE 45 43 88| 18.0] 70.0|AE 801 |BH XA 46 45 91| 19.2] 71.8|AE 14061 [ F1T 43 44 87| 14.4] 72.6| AE
216 | B1E FH 44 44 88| 18.0| 70.0 81 |1EIR FNE 45 46 91 19.2]| 71.8 [ICET S 44 49 93| 20.4| 72.6
26 Bk 4 47 88| 18.0| 70.0 82u |JIlR #E 48 49 97| 25.2| 71.8 1424 [ILUB ¥+ 47 52 99| 26.4| 72.6
2361 |NiE E— 38 43 81| 10.8| 70.2 83 |IUFT EE 54 49| 103| 31.2| 71.8 14361 /N8  [E—ER 54 51 105 32.4| 72.6
(i |AH FX 46 4 87| 16.8| 70.2 844 |H = 39 33 721 0.0 72.0 144460 [ RAE WA 38 36 74) 1.2] 72.8
2561 |RAF 1Esh 44 43 87| 16.8| 70.2 851 |AEB = 39 39 78] 6.0] 72.0 14561 |=%¢ RE 39 41 80| 7.2| 72.8
2660 |AF B 39 48 87| 16.8| 70.2 86 | EE 40 38 78] 6.0] 72.0 14660 |£E]R —4% 39 4 80| 7.2| 72.8
216 /bt X 46 47 93] 22.8] 70.2 81 |BElR —x 43 4 84| 12.0| 72.0 14761 [BH E— 40 40 80| 7.2| 72.8
280 |l EHE 40 40 80| 9.6 70.4 88fL |MFT =IE 39 45 84| 12.0| 72.0 14860 [#F = 3] 39 80| 7.2| 72.8
IET IR ES 46 46 92| 21.6] 70.4 891 |FE K 44 40 841 12.0] 72.0 14941 [FEA  BE%=] 4 45 86| 13.2| 72.8
K ETRS | 46 46 92| 21.6| 70.4|AE 906 |EHE £H 44 40 84| 12.0] 72.0/|AE 1504 |[FEIF =8B 44 42 86| 13.2] 72.8|AE
3G |[FAA i#E 44 54 98| 27.6| 70.4 91 |HE F 43 4 841 12.0] 72.0 15161 |AH X5 42 44 86| 13.2| 72.8
241 |BEE BE 35 44 79] 8.4] 70.6 92 |IE i 39 45 84| 12.0| 72.0 152 [HT Xz 44 42 86| 13.2] 72.8
336 [l RA 47 44 91| 20.4] 70.6 L E =T 45 39 841 12.0] 72.0 16361 /Mg —&% 39 47 86| 13.2| 72.8
M |AH EBEE 41 37 78| 7.2] 70.8 9hr  |[EE MY 4 43 84| 12.0| 72.0 15441 |88 & 45 3] 86| 13.2] 72.8
35 [GEM Fth 40 38 78| 7.2] 70.8 9541 [Nk HRE 42 42 84| 12.0| 72.0 1654 [fEH ‘X 42 44 86| 13.2| 72.8
364 [IUO  HFER 36 42 78| 7.2] 70.8 9661 [;AK E— 46 44 90| 18.0| 72.0 15661 =)l HBRE 39 47 86| 13.2] 72.8
3 |EEE B/EF 42 42 841 13.2| 70.8 L ESE S 47 43 90| 18.0| 72.0 15761 |&# =K 46 40 86| 13.2| 72.8
B Bl EE 41 43 84| 13.2| 70.8 984 |#plF  BE 44 46 90| 18.0| 72.0 1584 [BFf =ZER 42 44 86| 13.2] 72.8
396 [HAIR Eif 43 4 841 13.2| 70.8 9941 |FEA 45 45 90| 18.0| 72.0 15941 |HA  #ish 44 42 86| 13.2| 72.8
4061 | S 5P 44 46 90| 19.2| 70.8|AE 10062 |NHE BE 47 49 96| 24.0] 72.0/AE 16062 | K&t ©E 43 43 86| 13.2] 72.8|AE
A6 A FOE 45 45 90| 19.2] 70.8 R 39 38 71| 4.8] 72.2 1611 |[Bi5 =& 43 49 921 19.2] 72.8
2060 Il IE{E 39 38 77) 6.0/ 71.0 1022 [&F)Il H 36 4 71 4.8] 72.2 1624z |11 ER 46 46 92| 19.2] 72.8
[ ES 37 40 71) 6.0/ 71.0 103 [=%F = 4 42 83| 10.8| 72.2 16360 |l =—8B 43 49 92 19.2] 72.8
44461 [ER —4% 40 43 83| 12.0] 71.0 104462 (40 B 39 44 83| 10.8] 72.2 16442 [JINE FEF 48 44 92| 19.2] 72.8
4561 [ BE 45 44 89| 18.0| 71.0 1056z |& &hEd 43 46 89| 16.8| 72.2 16561 [{Z%% B+ 47 45 92 19.2] 72.8
4661 [IUA  8hA] 49 521 101] 30.0[ 71.0 10662 |3 X% 48 4 89| 16.8] 72.2 1660 |[KREH HIAX 42 50 92| 19.2] 72.8
4760 AR 40 42 82| 10.8| 71.2 10761 AR EX 40 49 89| 16.8| 72.2 167462 |F8 F 48 50 98| 25.2| 72.8
486 |[5H BEIT 42 40 82| 10.8] 71.2 1084 |&HK ®E 46 43 89| 16.8] 72.2 1684 |[BEA T 37 42 79] 6.0 73.0
49461 |Z®' —{Z 44 44 88| 16.8| 71.2 1096 KA BX 46 49 95| 22.8| 72.2 1696 | EJR IEH 37 42 79 6.0] 73.0
5061 |[SH RE 46 42 88| 16.8] 71.2|AE 11062 [#13F HEeF 48 53] 101| 28.8| 72.2| A& 170460 |43 & 39 40 79] 6.0] 73.0/AE
b1 |fEtE /L 39 42 81 9.6| /1.4 111461 [RE  XXF 35 35 700 -2.4] 72.4 17160 | &% SEIZ 40 39 79 6.0] 73.0
524 |)IlEG 1RBH 4 40 81| 9.6 71.4 11260 |ER —4% 35 4 76] 3.6] 72.4 17262 [JIlE 30 39 40 79] 6.0 73.0
3L |BEsF —F 41 40 81 9.6| /1.4 11361 |Hil @ 37 39 76| 3.6 72.4 17361 |[&H  #5h 46 39 85| 12.0] 73.0
5441 [;FK EKE 40 4 81| 9.6 71.4 11446 &K FEt 38 44 82| 9.6] 72.4 17451 |=3F IEE 42 43 85| 12.0] 73.0
bbfr [AEL = 47 40 87] 15.6| 71.4 1156 | k& IE# 39 43 82| 9.6 72.4 17561 |[E& 188 39 46 85| 12.0] 73.0
5661 (B =— 43 44 87| 15.6| 71.4 11642 [BlE Flz 43 39 82| 9.6] 72.4 17661 |[BAR 1B 44 4 85| 12.0] 73.0
5761 |FR B2 44 43 87| 15.6| 71.4 1176 |WHA E—E} 44 38 82| 9.6 72.4 17760 | %8 =i 42 43 85| 12.0] 73.0
5841 |k 1EBH 43 44 87| 15.6| 71.4 1186 [N E &R 43 45 88| 15.6] 72.4 1780 [HEiZE WFH2 45 40 85| 12.0] 73.0
5941 | RIx &sh 43 44 87| 15.6| 71.4 11961 [;BK EE 44 44 88| 15.6| 72.4 17961 [JER XG&E 43 42 85| 12.0] 73.0
60z |ILA EEH 47 46 93| 21.6] 71.4|AE 120 [ HBE 47 47 94| 21.6] 72.4|AE 1804z [1EH W 4 44 85 12.0] 73.0/|AE
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FTHUHIR . PARx 2 WTOPR®BDB®E®DO®O® INODD@®G®®D®
HDCPEPR: (5) 40.0 (Z) 40.0 5 BEIERL - NET-HDCP - £ BB - A kv s
HDCPFRE: (B) -5.0 (%) -5.0

B4z B EA OUT |IN GROSS| HDCP | NET JIE f52 HHEA ouT |IN GROSS| HDCP | NET =¥ iva B E A ouT |[IN GROSS| HDGP | NET
[ 45| 46| 91| 18.0] /3.0 201 |[EE =M 2] 40| 82| 8.4] 73.6 01z [l THN 51| 47| 98] 24.0| /4.0
1820 |[Bm HE 41 50 91| 18.0] 73.0 0061 | & == 40 42 82| 8.4| 73.6 3027 |MA K= 50 48 98] 24.0| 74.0
1836 |&m RiE 47| 44] 91| 18.0] 73.0 243 |E#E s BH 41| 41| 82| 8.4] 73.6 303/ |[E WA 48] 50| 98] 24.0| /4.0
184461 [#lF HRK 48 49 97| 24.0] 73.0 2461 BB EKX 43 39 82| 8.4| 73.6 04 ME B 46 58] 104| 30.0| 74.0
1850 |/NR == 76| 51| 97| 24.0] 73.0 245 | B WA 43| 45 88| 14.4] 713.6 05T [ Em 47| 57| 104] 30.0] 74.0
18642 [#D)Il E2Z2 51 46 97| 24.0] 73.0 2464 | RKIL & 4 47 88| 14.4| 73.6 3064 |E7hE  fER 50 541 104| 30.0| 74.0
1876 Mm@ EAN 50 47| 97| 24.0] 73.0 2470 |KE = 46| 42| 88| 14.4] 73.6 07 [fiE =% 38| 41| 79| 4.8] 74.2
18841 B 5 37 41 78| 4.8] 73.2 e E S 44 44 88| 14.4| 73.6 3086 |[niE HEEF 38 41 79] 4.8] 74.2
180% |MgE fB= 421 42] 84| 10.8] 73.2 2006 [ E B 45| 43| 88| 14.4] 713.6 300 [F%H 5 45| 40| 85| 10.8] 74.2
19042 [f2H FA 39 45 84| 10.8] 73.2|AE 2506 |HRE  IEi@ 4 47 88| 14.4] 713.6|AE 310 R JEF 41 44 85 10.8] 74.2|AE
1916 |6 e 41| 43| 84| 10.8] 73.2 25161 [B& %A 16| 42| 88| 14.4] 3.6 I |[RE BE 40| 45| 85| 10.8] 74.2
1924 |Hg = 44 40 84| 10.8| 73.2 25261 EEE Eth 40 48 88| 14.4| 73.6 31261 |[R& 1HHH 44 41 85| 10.8| 74.2
1936 [ BH EBr 441 40| 84| 10.8] 73.2 2536 = Ay 44| 44] 88| 14.4] 3.6 3L (B = 44] 41| 85| 10.8] 74.2
194461 R FZER 41 43 84| 10.8| 73.2 5441 |18 KigE 44 44 88| 14.4| 73.6 31461 [JB% Rif 41 44 85| 10.8| 74.2
19501 [HEZE ¥F2 42 42 84| 10.8| 73.2 2554u |HEH &F 46 48 94| 20.4| 73.6 31562 [SW 40 45 85| 10.8| 74.2
196 [{EAK Rk 40 44 84| 10.8| 73.2 25646 |IUZE HRXK 41 53 94| 20.4| 73.6 316 |[EH SF 42 43 85| 10.8] 74.2
19761 | AH =& 43 4 84| 10.8| 73.2 25760 BB IE 52 42 94| 20.4| 73.6 31741 |MHA  F = 42 43 85| 10.8| 74.2
1984 | K& EH 42 48 90| 16.8] 73.2 2586z |FJIl FIBA 47 47 94| 20.4| 73.6 3184 |ARER 1EZHR 42 43 85| 10.8| 74.2
199 [Ad =& 44 46 90| 16.8] 73.2 2594 |HERE FNE 44 50 94| 20.4| 73.6 3194 |HEE 1= 45 46 91| 16.8| 74.2
20001 e 1E 43 47 90| 16.8| 73.2|AE 2606 | K& 44 50 94| 20.4] 73.6|AE 32062 [  FRE 46 45 91| 16.8] 74.2|AE
2014z IR fEE 48 42 90| 16.8] 73.2 2614 |[RHEA E= 43 57| 100| 26.4| 73.6 214 [;FA FX 44 47 91| 16.8| 74.2
202 |[1Z% #BF 47 43 90| 16.8] 73.2 2620 |[1EBE AR 47 53] 100| 26.4| 73.6 Y 44 47 91| 16.8| 74.2
2034z |HEO  Flif 49 47 96| 22.8] 73.2 2631 |[fREE WS 48 52| 100 26.4| 73.6 3231 |#EHE BA 47 44 91| 16.8| 74.2
204 [iIE] =) 49 47 96| 22.8] 73.2 2644GL |[FHH #E 48 52| 100| 26.4| 73.6 32441 |G {2ER 45 46 91| 16.8| 74.2
20541 |{EBE —ER 48 48 96| 22.8] 73.2 265 [thAR RRE 53 59| 112] 38.4| 73.6 32561 |[BH EA 4 50 91| 16.8| 74.2
206f | Bk 48 48 96| 22.8] 73.2 2664 [Ty = 37 38 75 1.2] 73.8 3266 | KK HEE 45 46 91| 16.8| 74.2
20742 |[pnE % 44 52 96| 22.8] 73.2 26/ |HFH EBEE 40 4 81| 7.2| 73.8 32711 |ARER & 45 46 91| 16.8| 74.2
2084z |AG)Il #EE 52 50| 102| 28.8| 73.2 2686 | BT R 40 4 81| 7.2| 73.8 32841 |BEE =Al 47 50 97| 22.8| 74.2
2091 AR BBE 38 39 71| 3.6] 713.4 2694 (IO FEk 40 4 81| 7.2 73.8 329 |;&=H  F0EA 48 49 97| 22.8| 74.2
200 |== HmiE 39 38 71| 3.6| 13.4|AE 210652 [/MNR A 45 42 87| 13.2] 73.8|AE 3306 | AH #£F 49 48 97| 22.8] 74.2|AE
200460 % R 38 39 71| 3.6] 713.4 211 |BEB £/ 38 49 87| 13.2| 73.8 B |BR % 54 55| 109| 34.8| 74.2
21260 |EEH S F 40 37 71 3.6] 73.4 21261 |¥AH  REE 42 45 87| 13.2| 73.8 332 |[=F HE 40 38 78] 3.6| 74.4
236 | BRAR HE 37 40 71| 3.6] 713.4 27360 [k F 44 43 87| 13.2]| 73.8 333z |[ZIE EBIE 37 4 78] 3.6| 74.4
21461 |FAAR % 41 42 83| 9.6 73.4 271441 | RIL & 44 43 87| 13.2| 73.8 334 BRI StBA 42 42 84| 9.6 74.4
2154 4L B#t 42 4 83 9.6 73.4 2156 [IWE [E7= 4 46 87| 13.2| 73.8 3354 |[#VE BE 42 42 841 9.6 74.4
21642 [fEH R— 39 44 83| 9.6 73.4 21660 |EhE HF 46 4 87| 13.2| 73.8 336HL |[= &l 3] 43 84| 9.6 74.4
21761 [#5H R 40 43 83 9.6 73.4 21711 |=H AR 46 47 93] 19.2| 73.8 3374 |He = 36 48 84] 9.6 74.4
2180 |& (=37 43 40 83| 9.6 73.4 218b |FE W= 38 36 74) 0.0] 74.0 338 |BA FEA 39 45 84| 9.6 74.4
2196 |&® EH 4 42 83 9.6 73.4 27941 |&R —X 38 42 80| 6.0/ 74.0 33961 |FEN LE 40 44 841 9.6 74.4
200z == & 37 46 83| 9.6] 73.4|AE 2800 |EERd EE 39 4 80| 6.0/ 74.0/AE 34061 [IUAR FHE 42 42 84| 9.6 74.4|AE
22160 |=i8  fiEwd 44 39 83 9.6 73.4 28141 |#HEF EF 38 42 80| 6.0/ 74.0 34141 [¥AH  BEAER 38 46 84] 9.6 74.4
22201 |BREF # B 44 45 89| 15.6| 73.4 28241 [3ER 15 38 42 80| 6.0] 74.0 34241 | FRiE A —EHR 40 44 84| 9.6| 74.4
23 B E— 44 45 89| 15.6| 73.4 2831 |—/ ¥ fE 40 40 80| 6.0| 74.0 M3 [|{F 2E 43 47 90| 15.6| 74.4
22461 |FL R 47 42 89| 15.6| 73.4 28461 B E=— 43 43 86| 12.0| 74.0 34441 [H  #ish 47 43 90| 15.6] 74.4
2254z |#kR  BIE 44 45 89| 15.6| 73.4 28561 |IUER A= 45 4 86| 12.0| 74.0 34541 |[FhiF  F—ER 43 47 90| 15.6| 74.4
2264 [/ME AL 46 43 89| 15.6| 73.4 2864z |EBE fE 45 4 86| 12.0| 74.0 34641 |RL fF5h 47 43 90| 15.6] 74.4
2161 |® EHH 41 48 89| 15.6| 73.4 2874 |BREF AhZE 42 44 86| 12.0| 74.0 7t |NldE E 45 45 90| 15.6| 74.4
22861 |lU® EFR 43 52 95| 21.6] 73.4 28846 AT FiE 46 40 86| 12.0] 74.0 34841 (B IEX 46 50 96| 21.6| 74.4
2294 [fBH FA 46 49 95| 21.6] 73.4 2891 W@ FOEK 45 4 86| 12.0| 74.0 3496 |EAR  HRE 46 50 96| 21.6| 74.4
23061 &R E— 44 51 95| 21.6] 73.4|AE 29041 |EEIR B 44 42 86| 12.0] 74.0|AE 350 [#A®  Bh 44 52 96| 21.6] 74.4|AE
231460 /MR —#k 47 48 95| 21.6] 73.4 2014 | E/R 1EHH 40 46 86| 12.0| 74.0 Bl X8 =M 46 50 96| 21.6| 74.4
232(% |4k iF 53 48] 101] 27.6| 73.4 2021 | SME  HE— 39 47 86| 12.0] 74.0 3524 [/MEE H K 47 49 96| 21.6| 74.4
2336 |FH  EHAT 51 501 101| 27.6] 73.4 20341 [HERY M 43 43 86| 12.0| 74.0 3/BIML MiE B 48 48 96| 21.6| 74.4
23461 |=F WBE 39 37 76) 2.4] 73.6 29461 |FR BH=E 42 44 86| 12.0] 74.0 35441 [kl AN 50 46 96| 21.6| 74.4
23561 |EE —4% 36 40 76| 2.4] 73.6 205z [#AH #HF 43 43 86| 12.0| 74.0 3554 |HOA i 47 49 96| 21.6| 74.4
23661 | = A E 39 43 82| 8.4| 73.6 296 | RE THE 42 50 92| 18.0] 74.0 3564 |[HEH MEE 49 47 96| 21.6] 74.4
2374 AT BBAE 41 41 82| 8.4| 73.6 29761 | KFx W 44 48 92| 18.0| 74.0 3571 |JIH & 37 40 T 2.4 74.6
2386 |RBE =EF 42 40 82| 8.4| 73.6 29861 |l EFR 50 48 98] 24.0] 74.0 3584 MR {5 40 43 83| 8.4] 74.6
23961 |EE —4% 41 41 82| 8.4| 73.6 2994 [H BE 46 52 98] 24.0| 74.0 3591 |ER —4H 39 44 83| 8.4| 74.6
24061 |ElR —H 39 43 82| 8.4] 713.6|AE 3004z |[=H FEA 47 51 98| 24.0] 74.0|AE 3604 |E&EH IEfT 42 4 83| 8.4 74 6|AE
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2023 # 8 A1 B () ~ 2023 &8 A 31 B (K)
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HDCPEPR: (5) 40.0 (Z) 40.0 5 BEIERL - NET-HDCP - £ BB - A kv s

HDCPFRE: (B) -5.0 (%) -5.0
JIIE 432 B EA OUT |IN GROSS| HDCP | NET JIE f52 HHEA ouT |IN GROSS| HDCP | NET =¥ iva B E A ouT |[IN GROSS| HDGP | NET
361 |#b &HF 421 41| 83| 8.4 714.6 P (NI Fe 43| 45| 93] 18.0] /5.0 81 AR Bk 44] 53] 97| 21.6] /5.4
36260 | H K 44 39 83| 8.4 74.6 4220 2% fBF 49 50 991 24.0| 75.0 48261 B E o 49 48 97| 21.6| 75.4
363z |k 2SR 39] 50| 89| 14.4] 74.6 423060 [HRET ZX 49 50| 99| 24.0] 75.0 183 [ERA B 49] 48] 97| 21.6| 75.4
36461 |FE S 42 47 89| 14.4| 74.6 2441 | KA Bk 49 50 991 24.0| 75.0 48441 [JtH FRA 49 48 97| 21.6| 75.4
366f | E 2] 47] 89| 14.4] 74.6 5% [k BA 51| 48] 99| 24.0] 75.0 41850 [\EE #M%H 48] 49| 97| 21.6] /5.4
3664 |EEIE  EFA 44 45 89| 14.4| 74.6 42661 |FEA E 48 51 991 24.0| 75.0 48641 |BRIR HF 53 50] 103] 27.6| 75.4
367/ |  IF.& 74 45| 89| 14.4] 74.6 D k8 =k 49 50| 99| 24.0] 75.0 487 |E]JI &0 52| 57| 109] 33.6| /5.4
368hL |TTH —= 46 43 89| 14.4| 74.6 42861 |HEH FE 51 48 991 24.0| 75.0 48841 [/NEF IGA 51 58] 109| 33.6| 75.4
360 A HiE 75| 50| 95| 20.4] 74.6 0 |k %= 51| 48] 99| 24.0] 75.0 480% [SEFx  BeAl 44] 40| 84| 8.4] 5.6
30 [Hf wiA 47 48 95| 20.4| 74.6|AE 43061 |mg  FE—ER 49 50 99| 24.0/ 75.0/AE 00 |BH RE 35 49 84| 8.4 75.6|AE
37T [/NE — 5k 46| 49| 95| 20.4| 74.6 4316 | EH 8h 47| 58] 105] 30.0] 75.0 0 |[MNF RE 42| 42| 84| 8.4] 5.6
3241 |[iEIR B 47 48 95| 20.4] 74.6 43261 |hAT  BREE 53 52| 105 30.0| 75.0 49261 |[FHiE A 44 40 84| 8.4 75.6
REFEEIR 76| 49| 05| 20.4] 74.6 4335 [8aR% Al 40| 40| 80| 4.8] 75.2 493 |[ERA Tk 43| 41| 84| 8.4] 5.6
RIESTES 49 52| 101| 26.4] 74.6 434451 [ BiE 4 39 80| 4.8| 75.2 4941 [ KE E#H 41 49 90| 14.4] 75.6
37561 |{EBE #an 48 53] 101] 26.4| 74.6 4356 |EH B2 40 40 80| 4.8| 75.2 49541 |HRE EiF 43 47 90| 14.4| 75.6
31661 |EE I 39 43 82| 7.2 74.8 436461 |fEE L 40 46 86| 10.8| 75.2 49661 [F2H BL 47 43 90| 14.4] 75.6
37161 [/NEH  B— 4 4 82| 1.2| 14.8 43741 [#EIlL B # 42 44 86| 10.8| 75.2 49741 |[BE¥ IEE 48 42 90| 14.4| 75.6
318hL | R Al 40 42 82| 7.2 74.8 43861 |FEHF IR 4 45 86| 10.8| 75.2 49861 |HEF A 45 45 90| 14.4] 75.6
319 |[hE tHZ 40 42 82| 1.2| 74.8 4396 B0 AE 42 44 86| 10.8| 75.2 49941 [LUE R 44 46 90| 14.4| 75.6
3801z |FE FMA 43 39 82| 1.2] 714.8|AE 44061 [BAR HEX 44 42 86| 10.8] 75.2|AE 5004z [f8H 4 HEHA 44 46 90| 14.4] 75.6|AE
3814 | K¥E ShE 39 43 82| 7.2| 74.8 AN [TERK #Hi— 45 4 86| 10.8| 75.2 50141 |ifE F& 42 48 90| 14.4| 75.6
3821 | KiE Bl 43 45 88| 13.2| 74.8 442610 IR flith 40 46 86| 10.8| 75.2 5020 |FRiE BF 47 43 90| 14.4] 75.6
38 |[—= Fht 42 46 88| 13.2| 74.8 44361 |=ir  fiERd 42 44 86| 10.8| 75.2 5031 A0 HRE 43 47 90| 14.4| 75.6
384hr |ERIE EB 42 46 88| 13.2| 74.8 44441 ()0 FKEER 46 40 86| 10.8| 75.2 I ES S TS 46 44 90| 14.4] 75.6
3854 |iE/K  iEHR 45 43 88| 13.2| 74.8 4561 [ER B 48 44 92| 16.8| 75.2 50561 | KB A& 49 47 96| 20.4| 75.6
3866 | AKAT XHR 44 44 88| 13.2| 74.8 465 [TB %= 45 47 92| 16.8| 75.2 5060 |BFH B 48 48 96| 20.4| 75.6
3874 |[FKH #WE 42 46 88| 13.2| 74.8 44761 |#EHE  EER 42 50 92| 16.8| 75.2 50761 |[IUA 52 50| 102| 26.4| 75.6
388hr |FHA FHih 44 44 88| 13.2| 74.8 44861 | AR FRA 49 43 92| 16.8| 75.2 508 |HhiE JEF 50 52| 102] 26.4| 75.6
3891 [iBE RE 45 49 94| 19.2] 74.8 44941 | == FHH 42 50 92| 16.8| 75.2 509t | RARI *H 49 53] 102] 26.4| 75.6
3901 |JEEF =i 44 50 94| 19.2| 74.8|AE 45061 |[ZE ER 46 46 92| 16.8] 75.2|AE 5106 [&R & 50 52| 102] 26.4| 75.6| AE
3914z |[EHE Rl 47 47 94| 19.2] 74.8 45161 [#27T  #BE 43 49 92| 16.8| 75.2 5114 |[HE E# 52 50] 102] 26.4| 75.6
39241 |FH BEE 47 47 94| 19.2] 74.8 45241 |EEH FEal 49 49 98| 22.8| 75.2 b121 =€ &BA 40 43 83| 7.2| 75.8
39361 |EE EE 47 47 94| 19.2] 74.8 45341 [EEE R 4 57 98| 22.8| 75.2 5136 Al HE 45 38 83| 7.2 75.8
394461 K HERE 43 51 94| 19.2] 74.8 454 |[{EE EIE 50 48 98| 22.8| 75.2 514461 R FA 45 38 83| 7.2| 75.8
395 |[AHE E 44 50 94| 19.2] 74.8 45541 IR F 48 50 98| 22.8| 75.2 51561 [HAT BA 40 43 83| 7.2 75.8
3964 (WA BUE 52 48] 100 25.2| 74.8 456461 BT BT 53 45 98| 22.8| 75.2 164 |fH i 42 3] 83| 7.2| 75.8
39761 |[1ZHE BRER 50 501 100| 25.2] 74.8 45741 [Fh)Il HEH 51 47 98| 22.8| 75.2 51760 |Jb1E & 39 44 83| 7.2 75.8
3984y [ILE # 51 49] 100 25.2| 74.8 45841 | KAT A 46 58| 104| 28.8| 75.2 51861 |&lF & 3] 42 83| 7.2| 75.8
399 |&EIH5 = 50 56| 106| 31.2] 74.8 45941 | BEE S8 54 56| 110 34.8| 75.2 51941 |AlR E# 42 4 83| 7.2 75.8
40062 | KO EBE 56 50/ 106] 31.2| 74.8|AE 46061 |BAR SHE 42 37 79| 3.6| 715.4|AE 5204 |&E EFR 42 47 89| 13.2] 75.8|AE
40161 |=F E 38 37 75/ 0.0 75.0 4614 [#HE X&) 38 4 79 3.6] 75.4 211 |[fERK BxX 45 44 89| 13.2] 75.8
40261 |EER B 36 39 75| 0.0] 75.0 46261 | JBE B/RF 4 44 85| 9.6| 75.4 5221 |fHE Efid 45 44 89| 13.2] 75.8
4031 Ry BEE 39 42 81 6.0/ 75.0 463 [EE EB 4 44 85| 9.6 /5.4 5231 |Eim BRE 43 46 89| 13.2] 75.8
404 [#H EA 37 44 81| 6.0] 75.0 RS 44 4 85| 9.6] 75.4 244 |BA HE 44 45 89| 13.2] 75.8
40541 [EFK =t 46 41 87] 12.0] 75.0 465461 [;TE XX 4 44 85| 9.6 /5.4 5256 [BK B 45 44 89| 13.2] 75.8
40642 |[/\K FEA 46 4 87| 12.0] 75.0 466461 |SIE  HE— 44 4 85| 9.6] 75.4 5264 | K#F 43 46 89| 13.2] 75.8
40761 |HhHE #ESR 42 45 87| 12.0| 75.0 46761 [aTAT K 40 45 85| 9.6 /5.4 5211 |1k HE 49 46 951 19.2] 75.8
4080 Lk fe— 40 47 87| 12.0] 75.0 46861 |EEIR L2 50 4 91] 15.6] 75.4 52841 |FLIL  FEFE 48 47 95/ 19.2] 75.8
4091 |BF = 43 44 87] 12.0] 75.0 469461 |[E4<F JEIE 43 48 91 15.6| 75.4 5294 [IUA AEF 50 45 95| 19.2] 75.8
41061 |[PTA B1T 42 45 87| 12.0] 75.0|AE 47061 [ILE #RX 48 43 91| 15.6] 75.4|AE 5304 |[L#E Al 52 49] 101 25.2| 75.8| A&
A1 (W5 23 44 43 87] 12.0] 75.0 471461 & Rl 46 45 91 15.6| 75.4 53161 [ 88 50 51 101 25.2] 75.8
A2 [liO P& 46 47 93] 18.0] 75.0 47261 |FEO BBE 47 44 91] 15.6] 75.4 5324 ¥ HE 52 49 101] 25.2| 75.8
41361 | FFH RAE 46 47 93] 18.0] 75.0 473461 |BREF AhE 44 47 91 15.6| 75.4 5331 AR BE— 52 49 101 25.2| 75.8
A4 |/l #EF 49 44 93] 18.0] 75.0 47461 |ZBIR BRX 48 43 91] 15.6] 75.4 R 54 53] 107] 31.2] 75.8
A5 EE EZ 46 47 93] 18.0] 75.0 4756 | Bk ES 42 49 91 15.6| 75.4 b3bfi |EH #HE 54 591 113] 37.2| 75.8
4662 BRIl FE 47 46 93] 18.0] 75.0 47661 |[HH EBA 42 49 91| 15.6| 75.4 5364 |KXH [BE— 43 39 82| 6.0] 76.0
A6 (fFE B 43 50 93] 18.0] 75.0 4761 (B2 KH 43 48 91 15.6| 75.4 53741 |/\IEKRK R— 4 41 82| 6.0 76.0
A8z [iTO :E 4 52 93] 18.0] 75.0 41861 &K AHE 44 47 91] 15.6] 75.4 53841 |fBH Z£ 44 44 88| 12.0] 76.0
NSRS RE 44 49 93] 18.0] 75.0 47961 |=58 FEAK 47 44 91 15.6| 75.4 5391 |[HFE EF 44 44 88| 12.0| 76.0
42041 |hiE Z0AIN 49 44 93| 18.0] 75.0|AE 48067 | KF Z=EB 48 49 97| 21.6] 75.4|AE I SEIEEE PN 46 42 88| 12.0] 76.0/|AE
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FTHUHIR . PARx 2 WTOPR®BDB®E®DO®O® INODD@®G®®D®
HDCPEPR: (5) 40.0 (Z) 40.0 5 BEIERL - NET-HDCP - £ BB - A kv s
HDCPFRE: (B) -5.0 (%) -5.0

JIIE 432 B EA OUT |IN GROSS| HDCP | NET JIE f52 HHEA ouT |IN GROSS| HDCP | NET =¥ iva B E A ouT |[IN GROSS| HDGP | NET
541 | KFE & 45| 43| 88| 12.0] 76.0 6011 |feME &t 41| 44] 85 8.4 76.6 6611 |[MH =& 53] 54| 107] 30.0] 77.0
54971 |#x B8 44 44 88| 12.0| 76.0 60202 Lall 1— 43 42 85| 8.4| 76.6 6624 [/IiAl EEL 52 55| 107| 30.0| 77.0
503 [HE B 46| 48] 94| 18.0] 76.0 603 | AR B— 44 47] 01| 14.4] 76.6 6635L [ BIE 75| 49| 94| 16.8] 77.2
bAA [HER REX 46 48 94| 18.0| 76.0 60461 | KAT #EX 46 45 91| 14.4| 76.6 664 |fEE 25 50 44 94| 16.8| 77.2
5450 (NI B2 76| 48] 94| 18.0] 76.0 6050 |BRH Pr— 48] 43| 01| 14.4] 76.6 665T | En 44] 50| 94| 16.8] 77.2
546fu |FHE # 47 47 94| 18.0] 76.0 60661 [T IhR 42 49 91| 14.4| 76.6 6660 |HET EZ 48 46 94| 16.8| 77.2
EFEEES 75| 49| 94| 18.0] 76.0 6071 |heE i 45 46| 01| 14.4] 76.6 6670 |1k ZnRl 72| 52| 94| 16.8] 77.2
5484 ;IR E& 45 49 94| 18.0] 76.0 608fL B S 48 43 91| 14.4| 76.6 6681 |=LU Kith 48 46 94| 16.8| 77.2
540fi [IUA E 79| 45| 94| 18.0] 76.0 600 |AF =N 43| 48] 01| 14.4] 76.6 660T | =7 50| 44| 94| 16.8] 77.2
5500 =i A Y 50 44 94| 18.0| 76.0|AE 6106 |FE W= 46 51 97| 20.4] 76.6| AE 6704 |HHE B 49 45 94| 16.8| 71.2|AE
5511 WA A 47| 47| 94| 18.0] 76.0 6117z =0 B 52| 45 97| 20.4] 76.6 67176 (1@ FH—E 79| 51| 100] 22.8] 77.2
5527 M = nl 48 52| 100 24.0] 76.0 61261 /MR EFH 48 49 97| 20.4| 76.6 67261 Bl #Z 52 48| 100 22.8| 71.2
5537 |=3n IE%& 50] 50| 100] 24.0] 76.0 6136 |FH fw 43 49| 97| 20.4] 76.6 673 [T TBE_ 52| 48] 100] 22.8] 77.2
55441 =B Ed— 50 50/ 100| 24.0] 76.0 61461 |FBH HE 50 47 97| 20.4| 76.6 67446 |=H 51 49 100 22.8| 71.2
555(u =@ B 49 51 100) 24.0] 76.0 6156 |FKXK =B 55 48| 103| 26.4| 76.6 67561 |&HK = 51 49| 100| 22.8| 71.2
5564 " FIE 50 50/ 100| 24.0] 76.0 6160y |1k B 52 51 103| 26.4] 76.6 6764 | KIFE I 50 50| 100| 22.8| 77.2
bb/fr |kEE S 50 56| 106| 30.0| 76.0 61760 A M= 50 53| 103| 26.4| 76.6 67746 |#8HE X 51 49| 100| 22.8| 71.2
55861 |FHFH TE 53 53] 106] 30.0| 76.0 618 |EBWG FRif 54 55| 109] 32.4| 76.6 6/86 |E¥ EZ 46 54| 100] 22.8] 71.2
55941 | HBE 49 571 106] 30.0| 76.0 61941 |MH £ 58 57| 115] 38.4| 76.6 679G |HE ZE 51 49| 100| 22.8| 71.2
5600 e mih 52 54| 106| 30.0| 76.0|AE 620 |HBF =F& 40 44 84| 1.2 76.8|AE 680G |BAX £ 46 541 100| 22.8| 71.2|AE
56141 |HE fHth 53 53] 106] 30.0| 76.0 62141 |FHIN E 44 40 84| 7.2| 76.8 6814 |HAT 1&—EHR 48 52| 100| 22.8| 71.2
56241 |LU[E it 42 45 87| 10.8| 76.2 6224 | KT {EZ 44 46 90| 13.2| 76.8 6821 |®&E f&EF 53 53] 106] 28.8| 77.2
563 [P i 47 40 87| 10.8| 76.2 62361 ia[[R KiE 47 43 90| 13.2] 76.8 68311 |[® #R 54 58| 112| 34.8| 71.2
5644 |[RAT HE 43 44 87| 10.8| 76.2 62461 |EET AZ 50 46 96| 19.2| 76.8 6844 |#8H FF 55 57) 112] 34.8| 71.2
565 [/MEH B 4 46 87| 10.8| 76.2 6251 |[BHF 1EX 49 47 96| 19.2| 76.8 6851 |XH [BE— 42 39 81| 3.6| 71.4
5666 |EE @0 44 43 87| 10.8| 76.2 6264 (¥R HSBR 48 48 96| 19.2| 76.8 6860 |ElR E— 44 43 87| 9.6| 77.4
56/6L |EE AZ 48 45 93] 16.8] 76.2 62741 | {EBH 48 48 96| 19.2| 76.8 6874 |XF BE 45 42 87| 9.6| 77.4
5686 |IUF IEEX 46 47 93| 16.8] 76.2 6284 |RKE & 47 49 96| 19.2| 76.8 68841 |;GK EF 47 46 93] 15.6| 77.4
5694 (WO ffiA 45 48 93| 16.8] 76.2 6291 |KE ME=E 49 47 96| 19.2| 76.8 6894 |FL F 47 46 93] 15.6| 77.4
5106 | =X 48 45 93| 16.8| 76.2|AE 63047 |HiE H#53C 50 46 96| 19.2] 76.8|AE 6901 [ERAKR MR- 48 45 93| 15.6] 71.4|AE
57141 |1§%F BLF 46 47 93] 16.8] 76.2 6314 |[HE =X 50 46 96| 19.2| 76.8 6911 | ERA b 46 47 93] 15.6| 77.4
57261 |SFH  BUE 51 42 93| 16.8] 76.2 6324z [iE  EBEB 51 45 96| 19.2| 76.8 6921 |BEH  FER 52 47 99| 21.6| 77.4
513 |FEAR HKiE 48 51 99| 22.8] 76.2 63341 MR BA 50 46 96| 19.2| 76.8 6931 |XH =X 47 52 99| 21.6| 77.4
574 [itE # 48 51 99| 22.8] 76.2 63461 |EH %= 44 58] 102| 25.2| 76.8 6944 B EF 48 51 99| 21.6| 77.4
57561 |IBA Fik 50 49 99| 22.8] 76.2 6351 |3 =ETE 53 491 102 25.2| 76.8 6954 [ EFEF 49 50 99| 21.6| 77.4
57661 %k HZ 51 48 99| 22.8] 76.2 636461 |[/MEE X 51 51 102 25.2| 76.8 6964 SR = 46 53 99| 21.6| 77.4
57711 | {HH 49 50 99| 22.8] 76.2 6371 |&HH BEE 50 521 102 25.2| 76.8 69761 |#A IEfE 49 50 99| 21.6| 77.4
5784 [Hl BT 55 50| 105| 28.8| 76.2 6384y |Hf EE 47 55| 102| 25.2| 76.8 69841 |[#ATF BR4XE 50 49 99| 21.6| 77.4
57941 |WHE FE b5 501 105| 28.8] 76.2 6391 |[EER E(& 54 541 108| 31.2| 76.8 69941 [¥RF RIAER 44 55 99| 21.6| 77.4
5804z |[#BA MBA 55 50/ 105| 28.8| 76.2| AE 64014 [ ZNER 49 59| 108] 31.2| 76.8|AE 1006 2R B%R 49 50 99| 21.6] 771.4|AE
5811 |[5kF [EE 54 51 105| 28.8] 76.2 64141 |[FHH #E 56 52| 108] 31.2| 76.8 J016L [F# {8 49 56| 105 27.6| 77.4
5821 |KH TR 55 50/ 105| 28.8] 76.2 6424 |JHH HX 4 48 89| 12.0| 77.0 A ERET 55 50| 105| 27.6| 71.4
b83hL |5k = 59 52| 111| 34.8] 76.2 6434 |Fx)Il BHE— 43 46 89 12.0| 77.0 N EEES 46 40 86| 8.4 71.6
58441 |JEEF BRTF 42 44 86| 9.6| 76.4 64441 |IUE EFR 43 52 95| 18.0] 77.0 70441 |HEH EF 43 43 86| 8.4| 71.6
5854 |FHHE HEH 37 49 86| 9.6/ 76.4 6454y [EE EZ 45 50 951 18.0| 77.0 70561 [IUEE  #K 44 42 86| 8.4| 77.6
5866 |[BH EA 44 42 86| 9.6| 76.4 6464 [FAF I E 46 49 95| 18.0] 77.0 10661 |[#EA K fRls 45 I3 86| 8.4| 71.6
5874 [IUE R"E 42 44 86| 9.6 76.4 64741 &R R 49 46 951 18.0| 77.0 107461 |HEE BEFE 40 46 86| 8.4| 77.6
5884 |HE HM 47 45 92| 15.6] 76.4 64841 |fHEF BHx 48 47 95| 18.0] 77.0 1084 [{BAR FAFE 48 44 92| 14.4] 71.6
589kt = 5 48 44 92| 15.6| 76.4 64941 |HF EE 48 47 951 18.0| 77.0 7096 |F & 48 44 92| 14.4| 77.6
590fz |[EHE X 46 46 92| 15.6| 76.4|AE 65047 |EGE ZBH 48 47 95| 18.0] 77.0|AE NEREEESS 42 50 92| 14. 4] 71.6|AE
5914 |iiE EER 47 45 92| 15.6| 76.4 6511z |[= KB 51 50] 101] 24.0] 77.0 S 51 47 98| 20.4| 77.6
5921 |HEAR @E 50 48 98| 21.6] 76.4 65241 [/NHIE EE 48 53] 101] 24.0] 77.0 N2 | K28 EF 47 51 98] 20.4| 71.6
5936 |HIT B 48 50 98| 21.6] 76.4 65361 |ARHE E 54 471 101 24.0] 77.0 131 AR &iX 46 52 98| 20.4| 77.6
5044x |& Ex 56 48] 104| 27.6] 76.4 6544 [RIEA &1 48 53] 101] 24.0] 77.0 i | ZH & 49 49 98] 20.4| 71.6
5954 [JIl5 {2ER 55 491 104 27.6| 76.4 65541 |fAIER FHH 51 50 101] 24.0] 77.0 71541 |[EHE £ 49 49 98] 20.4| 77.6
5964 |Efd iF#E 48 56| 104| 27.6] 76.4 6564 | B 58 491 107] 30.0| 77.0 J1646L |[HA FE 48 50 98] 20.4| 71.6
59741 | FRIRIE ERRE 58 58| 116| 39.6| 76.4 65761 |FEG FIR 52 55| 107| 30.0| 77.0 16 &% JBEF 49 49 98] 20.4| 77.6
5984 [BLL mE 37 36 73] -3.6] 76.6 6584 |[EH EXx 54 53] 107] 30.0] 77.0 1841 A K 47 51 98] 20.4| 71.6
59941 ¥ —BR 42 43 85| 8.4| 76.6 6500 |1EmE o 55 521 107| 30.0] 77.0 N ET ST 49 55| 104| 26.4| 77.6
6004z |hiE FEF 44 4 85| 8.4] 76.6|AE 6601 |ZEH FH 52 55/ 107| 30.0] 77.0/|AE IS EEEEE] 57 47] 104] 26.4| 71.6 AE
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FTHUHIR . PARx 2 WTOPR®BDB®E®DO®O® INODD@®G®®D®

HDCPEPR: (5) 40.0 (Z) 40.0 5 BEIERL - NET-HDCP - £ BB - A kv s

HDCPFRE: (B) -5.0 (%) -5.0
JIIE 432 B EA OUT |IN GROSS| HDCP | NET JIE f52 HHEA ouT |IN GROSS| HDCP | NET =¥ iva B E A ouT |[IN GROSS| HDGP | NET
Ny A8 B= 49| 55| 104] 26.4] 77.6 1816 |AA ILiT 61| 52| 113] 34.8] /8.2 84 [AA EBEF 52| 51| 103] 24.0] 79.0
12241 |fElR MK 55 49] 104| 26.4| 77.6 18241 |[\NE BE 55 58] 113] 34.8| 78.2 84241 [BAIL FEK 51 52] 103] 24.0] 79.0
1236 & e 53] 57| 110] 32.4] 77.6 R TS 60| 53] 113] 34.8] /8.2 33 (a1 F 79| 54| 103] 24.0] 79.0
T R BE 42 43 85| 7.2 71.8 184G |BEH FHRF 44 44 88| 9.6 78.4 B4Ah | HiE A 49 541 103] 24.0] 79.0
15T Rk BE 2| 43| 85 7.2] 77.8 785 =78 mIED 43 45| 88 0.6] /8.4 845 B mEZx 52| 51| 103] 24.0] 79.0
12641 1R BB 49 42 91| 13.2] 77.8 1866 R ER 44 44 88] 9.6 78.4 EEEE 51 58] 109] 30.0| 79.0
12150 Rk faal 73] 48] 01| 13.2] 77.8 7870 & — 47| 41| 88| 9.6| /8.4 8471 |[fAH FTEF 55| 60| 115 36.0] 79.0
72841 |@FH 185h 46 51 97| 19.2] 77.8 788 |BmA BE 48 46 94| 15.6| 78.4 8484 |JII% ZF 58 57] 115] 36.0] 79.0
1206 [RIR: K& 49| 48] 97| 19.2] 77.8 780%L | K7 ian 45 49| 94| 15.6] /8.4 80 |BA feiR 45 45| 90| 10.8] 79.2
13061 30 HRa 50 47 97| 19.2| 71.8|AE 719061 |BREF BAE 4 53 94| 15.6] 78. 4| AE 8504 |l ZFHZB 44 46 90| 10.8] 79.2|AE
731 [BE mR 441 53] 97| 19.2] 77.8 19162 [#REF_ shi 49| 45 94| 15.6| /8.4 8511y | H S% 42| 48] 90| 10.8] 79.2
1324 |BEBR —4& 53 501 103| 25.2] 77.8 1924 |BEHR % 45 49 94| 15.6| 78.4 8521 AL EE 45 51 96| 16.8| 79.2
R R 53] 50| 103| 25.2] 77.8 793 MR e 45 49| 94| 15.6] /8.4 8530 |k m— 48] 48] 96| 16.8] 79.2
13441 |EH ERF 49 54| 103| 25.2] 77.8 7194 |BEA &a 42 52 94| 15.6| 78.4 854 BB E &t 46 50 96| 16.8| 79.2
7350 |MR == 50| 53| 103| 25.2] 77.8 795% | KB EH 48] 52| 100] 21.6] /8.4 855%% | =% &8k 45| 51| 96| 16.8] 79.2
1366 | RERE FE 48 55| 103| 25.2] 77.8 1966 | R EF 48 52| 100 21.6| 78.4 856 | ES 54 48| 102| 22.8| 79.2
IEFES S 49 541 103] 25.2| 77.8 19760 [/IME Bz 54 46| 100| 21.6| 78.4 8574 |MMA BE 51 51 102| 22.8] 79.2
1384 [AREF  ER 54 491 103] 25.2| 71.8 7984 |HIL HERK 51 49] 100 21.6| 78.4 8h8f |HR FE 52 50] 102| 22.8] 79.2
7139f 2l EC 50| 53| 103| 25.2] 77.8 799G |#IfE  Ehe 50 50| 100] 21.6] /8.4 850f% A%y B F 52 50| 102] 22.8] 79.2
1406 | ERE HE 52 51 103] 25.2| 771.8| A& 80041 |JtlE FEiEF 57 55] 112| 33.6| 78.4|AE 8604 |FlfF EERX 52 56] 108| 28.8| 79.2|AE
14146 [ HE FXK b4 49| 103| 25.2| 77.8 80141 | #EA 43 50 93| 14.4| 78.6 8611 |lEH SAF 53 55| 108| 28.8| 79.2
TA260 |=3hk IEZE 42 48 90| 12.0] 78.0 802 |[tEA/K EX 48 45 93] 14.4| 78.6 8621 |HEZ SBH 53 55| 108] 28.8| 79.2
14361 [TEE & 43 47 90| 12.0| 78.0 8031 |#FH {BAER 48 45 93| 14.4| 78.6 863 |KH ZE 50 58| 108| 28.8| 79.2
T4 [ AT B — 44 46 90| 12.0] 78.0 8044 |JI%  Eig 49 50 99| 20.4| 78.6 8644 |—/ 38 F— 55 53] 108] 28.8| 79.2
JASGL |tk E— 4 49 90| 12.0] 78.0 805 |MH [Eif 49 50 99| 20.4| 78.6 8651 |FRiE LLEF 58 56| 114| 34.8| 79.2
14660 [BHF EAN 42 48 90| 12.0] 78.0 80611 =) 50 49 99| 20.4| 78.6 866fL [:H #FIE 58 56| 114] 34.8] 79.2
EET 44 46 90| 12.0| 78.0 8071 |8 HFX 46 53 99| 20.4| 78.6 8671 |[fE4<F JEIE 43 46 89| 9.6 79.4
14841 |1EE 2T 49 47 96| 18.0] 78.0 8084 &L 1TIL 51 541 105] 26.4| 78.6 8684 |iExw 45 44 89| 9.6] 79.4
JA96L |hH  EEE 50 46 96| 18.0] 78.0 8091 |ZH FH 53 52] 105 26.4| 78.6 8691 |RE FIEA 44 51 95| 15.6] 79.4
1506 |2 & 44 52 96| 18.0| 78.0|AE 8101 |G =F 52 53] 105 26.4| 78.6|AE 810G [iFK EF 47 48 95| 15.6] 79.4|AE
I51460 | FxlE 1E1E 45 51 96| 18.0| 78.0 8114 [ #M=E 56 491 105 26.4| 78.6 /1L [MMiE BF 49 46 95| 15.6] 79.4
1524 [BRE 46 50 96| 18.0] 78.0 81261 | RAR E2Z 57 48] 105| 26.4| 78.6 87241 |FME B2 51 50| 101] 21.6] 79.4
7536 [IUAR HE 43 53 96| 18.0] 78.0 8131 &8 TE 57 541 111] 32.4| 78.6 8731 [IWA #Z 45 56| 101] 21.6| 79.4
15441 [Hp FHE 45 57] 102 24.0] 78.0 814hL | KA [EE 54 57] 111] 32.4| 78.6 /AL ¥R Z=Eal 52 55| 107] 27.6| 79.4
75561 [IER  /Mé 43 59| 102| 24.0] 78.0 81541 |FJIl HEF 58 591 117] 38.4| 78.6 875hL |[fFE R 54 53] 107] 27.6| 79.4
1566 AT E HEF 49 53] 102 24.0] 78.0 81661 |27 BIE 58 591 117] 38.4| 78.6 87641 | ANEX 52 55| 107| 27.6| 79.4
I5760 |#RE sk 48 54| 102| 24.0] 78.0 8171 | —HA 48 44 92| 13.2| 78.8 811 |EAK & 61 58] 119] 39.6| 79.4
15841 |EtR FEE 51 57| 108] 30.0| 78.0 818HL |A1T FHK 42 50 92| 13.2| 78.8 8/8L [tEHA Fh 58 61 119| 39.6| 79.4
75941 [sR £ b5 53] 108| 30.0] 78.0 81941 5511 BHX 52 46 98] 19.2| 78.8 819 RN BFA 47 47 941 14.4] 79.6
76041 %= 1EMI 57 57| 114] 36.0| 78.0| AE 8204 |HiF Al 48 50 98| 19.2] 78.8|AE 8804 [ H 47 47 94| 14.4] 79.6|AE
761461 |[{2E {8 39 44 83| 4.8 78.2 8214 |IUA 157 45 53 98] 19.2| 78.8 8814 |BAE FEth 47 47 941 14.4] 79.6
16241 | RH RE 42 47 89| 10.8| 78.2 822{u |[tERK HT/F 48 50 98] 19.2| 78.8 8821 |2 BF 51 49 100 20.4| 79.6
16360 |Ef X 43 46 89| 10.8| 78.2 8236 |1t 1& 43 55 98] 19.2| 78.8 883 |BfEF F 49 51 100| 20.4] 79.6
164461 |FIL BRI 45 44 89| 10.8] 78.2 82461 R #/FE 49 49 98] 19.2] 78.8 8B4 |HEM B 47 53] 100] 20.4] 79.6
IEFET=E = 44 45 89| 10.8| 78.2 8254 |HERE FME 52 52| 104 25.2| 78.8 8851 |AHO MW= 49 51 100| 20.4] 79.6
1660 |[IRE B 44 45 89| 10.8] 78.2 8264 |FIL FBE 52 58] 110] 31.2] 78.8 8864 A0 EiE 64 36] 100] 20.4] 79.6
16761 | NE 46 43 89| 10.8| 78.2 82761 |l BF 58 52| 110] 31.2| 78.8 88746L |FJIl Fh— 46 541 100 20.4| 79.6
1684 |k mEk 46 43 89| 10.8] 78.2 828hr By MEF 55 55| 110] 31.2] 78.8 8884GL [JIIG FATF 50 50| 100| 20.4] 79.6
1694 ke 27 46 49 95| 16.8] 78.2 8201y |[FR =8F 54 56| 110 31.2| 78.8 8894 |AHIN iF 49 57] 106] 26.4| 79.6
71062 | BBER 49 46 95| 16.8| 78.2|AE 8301 [;ZB # 59 51 110] 31.2| 78.8| A& 890G |[FF & 61 45] 106| 26.4| 79.6 AE
IEEEEEES 51 44 95| 16.8] 78.2 83141 |/NH Bi& 39 40 791 0.0 79.0 8914z &R Z& 57 55| 112] 32.4| 79.6
71260 [F1E Ttk 51 44 95| 16.8] 78.2 8324 |fRF}F BARE 37 48 85| 6.0 79.0 8924 |IA EZ 46 47 93] 13.2] 79.8
TI36L [;FK  BRAE 56 45) 101| 22.8| 78.2 833 |[E& {EH 46 45 911 12.0] 79.0 8931 |&H B 48 51 99| 19.2] 79.8
TIML |15 ERBR 52 49] 101] 22.8] 78.2 8344 [FNIZ RE 46 45 91] 12.0] 79.0 89441 |;F/K EBA 51 48 99| 19.2] 79.8
AR 49 52| 101| 22.8] 78.2 83bfir |[IUB% B 39 52 91 12.0] 79.0 8954 | KM =i 48 51 99 19.2] 79.8
71640 |5PR T=E 45 56| 101| 22.8] 78.2 8361 =t WwhHY 45 46 91] 12.0] 79.0 89641 |#MFH E— 49 50 99| 19.2] 79.8
T [HEH HES 47 54| 101| 22.8] 78.2 83T Bk BE 51 40 91 12.0] 79.0 8071y |[jRH =7l 52 53] 105 25.2| 79.8
718461 |EH E 55 52| 107| 28.8] 78.2 8384 A HExk 50 47 97| 18.0] 79.0 89841 |FE H 50 55| 105] 25.2] 79.8
T |me '— 50 57\ 107| 28.8] 78.2 839 ;IR ER 48 49 97| 18.0| 79.0 8994 |hff] =X 53 52] 105 25.2| 79.8
7806L [T B 54 59| 113| 34.8] 78.2|AE 8404 [ ZNER 44 53 97| 18.0] 79.0/|AE 9006z [BHMm R 47 58] 105] 25.2| 79.8|AE
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SF5ESHA nUF5oauR

2023 &£ 8 B 1 H (k) ~ 2023%& 8 H 31 H (K

WMBAER A IULRYT fE Lib-: * ok ok * * % * ok ok * * ok
FTHUHIR . PARx 2 WTOPR®BDB®E®DO®O® INODD@®G®®D®
HDCPEPR: (5) 40.0 (Z) 40.0 5 BEIERL - NET-HDCP - £ BB - A kv s
HDCPFRE: (B) -5.0 (%) -5.0

B4z B EA OUT |IN GROSS| HDCP | NET JIE f52 HHEA ouT |IN GROSS| HDCP | NET =¥ iva B E A ouT |[IN GROSS| HDGP | NET
90Tfz |kl MR 57 54| 111] 31.2] 79.8 061z |PaH Bl 58] 47| 105 24.0] 81.0 1021 =% = 54] 55| 109] 26.4] 82.6
9024sf |&H FF 55 56| 111] 31.2] 79.8 96261 | AR RHF 58 53] 111} 30.0] 81.0 102241 |AKR  #E 59 50 109| 26.4| 82.6
903%L |[#k iEfE 54 57| 111] 31.2] 79.8 063f | & 58] 53] 111] 30.0] 81.0 1023 HE =25 57| 58| 115] 32.4] 82.6
90441 [JIIF EF 57 60| 117] 37.2] 79.8 9644 | RA[R & 58 591 117] 36.0| 81.0 10244 | KfE E2 59 56| 115] 32.4| 82.6
905 MEH = 63 54| 117] 37.2] 79.8 065%c |f#HEH #0iG 60| 61| 121] 40.0] 81.0 1050 A& BX 53] 49| 102] 19.2] 82.8
9064z |FiE = 57 60| 117| 37.2] 79.8 9664 |[FIIl #F 71 50| 121] 40.0] 81.0 102641 | KIF  #EX 50 52| 102] 19.2| 82.8
907w |H Bk 46| 46| 92| 12.0] 80.0 6 28 B5 45 47] 92| 10.8] 81.2 1027 |98 GBIk 55| 47| 102] 19.2] 82.8
9081z |IEH %E 43 49 92| 12.0] 80.0 968HL | KFT J|2Z 49 49 98| 16.8| 81.2 102861 [T &2 47 55] 102| 19.2| 82.8
900 @A & 47| 45 92| 12.0] 80.0 60T |BHH =X 45 53] 98] 16.8] 81.2 10296 [#  #217 52| 50| 102] 19.2] 82.8
910z BE FEFE 46 46 92| 12.0| 80.0|AE 970z |[X% #EF 49 49 98| 16.8] 81.2|AE 103062 | RFZx Rk 47 61 108| 25.2| 82.8|AE
91Tfu AN &% 53] 45| 98] 18.0] 80.0 971 |Hk BF 52| 52| 104] 22.8] 81.2 10316 [lBA =4 54| 60| 114] 31.2| 82.8
9122 | == i 43 55 98| 18.0] 80.0 97261 |RKH EiE 48 56| 104 22.8| 81.2 103241 |FAT #Eth 52 49 101 18.0| 83.0
913 |=3F IF= 50| 54| 104] 24.0] 80.0 073 [ XE Bk 51| 53| 104] 22.8] 81.2 10336 [&X& SRl 52| 55| 107| 24.0] 83.0
9441 [FHLE 1E— 52 52| 104| 24.0] 80.0 9744« |BT BRA 48 56| 104| 22.8| 81.2 103441 |iZF HFsL 51 56| 107| 24.0| 83.0
91561 |l Z=&X 54 50| 104| 24.0| 80.0 9754z | ER 3k 44 60| 104 22.8| 81.2 10354 |3k = 59 60| 119] 36.0| 83.0
9164 [/hB  HEE 53 57/ 110] 30.0] 80.0 FESSEGES 54 50| 104| 22.8| 81.2 10364z [ER F0x 49 57| 106] 22.8| 83.2
97 [#EE &R 55 55| 110] 30.0] 80.0 FEEEEEE 46] 58] 104] 22.8] 81.2 10376 [JIIE ZRiE 60| 58| 118] 34.8] 83.2
91841 [ fE7 58 58| 116] 36.0] 80.0 9784 [F&)Il HE 55 55| 110] 28.8| 81.2 10384 |FH Z58 43 50 93] 9.6| 83.4
IRFECEEES 47 44| 91| 10.8] 80.2 079 | T & Bs 58] 52| 110] 28.8| 81.2 10300 |ERA B 55| 50| 105 21.6| 83.4
9204z [/IR 5T 46 51 97| 16.8| 80.2|AE 98041 R {EHR 58 58] 116| 34.8| 81.2| AE 1040fz BB =4t 49 56] 105 21.6| 83.4|AE
9214 [kBA B 50 47 97| 16.8] 80.2 9814 |/NME  BME 47 44 91| 9.6| 81.4 104141 |FHH 38 60 57| 117] 33.6| 83.4
9224 |&H & 46 51 97| 16.8] 80.2 9824 |BF  FENR 47 56| 103| 21.6| 81.4 104241 |hH & 62 55| 117] 33.6| 83.4
923GL |AR#f #EX 52 51 103| 22.8] 80.2 9831 | K1E EF 49 54| 103 21.6| 81.4 104341 |HiEZ = 68 55| 123] 39.6| 83.4
92441 |[=H R 48 55| 103| 22.8] 80.2 94k |HFH TH 53 50| 103] 21.6| 81.4 10444 [IUEH S5 49 61 110| 26.4| 83.6
92561 |fEM EE 45 58| 103| 22.8] 80.2 9854 [IWWHA FIX 54 49| 103| 21.6| 81.4 104541 |Fhat % 55 55| 110| 26.4| 83.6
9264 |/MNEr (S 46 57) 103] 22.8| 80.2 9864 iafE  HER 50 53] 103] 21.6| 81.4 104641 |RIR &iX 51 52| 103] 19.2] 83.8
2 T A& B 52 57] 109| 28.8| 80.2 9874 [IWA #HE 52 51 103| 21.6] 81.4 104742 |28 —8& 46 57| 103] 19.2| 83.8
028 |milr Bk 53 56| 109| 28.8| 80.2 988hr |mAR FEZ 57 52| 109| 27.6| 81.4 104841 |fhlh & 57 52| 109] 25.2| 83.8
929f |REAR 5k 53 62| 115 34.8] 80.2 98961 [MMiE BF 55 541 109 27.6| 81.4 104941 | KA 3R 55 60| 115 31.2| 83.8
9304 |&FH i 43 47 90| 9.6| 80.4|AE 9904z [JIIE 3% 54 55| 109] 27.6| 81.4|AE 10504 [#8H F5F 65 56| 121] 37.2| 83.8|AE
93141 |#% 153H 43 47 90| 9.6] 80.4 9914 [lhA  FEk 57 58] 115] 33.6| 81.4 10514z |EH ZBf 46 50 96| 12.0| 84.0
93211 AR ER 46 50 96| 15.6| 80.4 99261 | AR HER 58 57| 115] 33.6| 81.4 105241 |4EH = 49 59| 108| 24.0| 84.0
9033 &K HE 47 49 96| 15.6| 80.4 99361 | K& BHH 60 61 121] 39.6] 81.4 105341 |2 1815 57 63| 120 36.0| 84.0
93441 | AFT EL 44 52 96| 15.6| 80.4 9944r [HHE #E 45 51 96| 14.4| 81.6 105441 |[EHEH #4E 56 64| 120 36.0| 84.0
93bfi |fEH BERE 50 46 96| 15.6| 80.4 9954z |=A & 52 500 102| 20.4| 81.6 10554 |[R)Il =EA 61 591 120] 36.0| 84.0
9364 |FRiE #XGA 52 50| 102| 21.6] 80.4 9964 |81 K 51 51 102 20.4| 81.6 105641 |RA HIEH 62 62| 124] 40.0| 84.0
9374 |RE HETF 51 51 102| 21.6| 80.4 9974z |[HhH ZEEE 55 53] 108| 26.4| 81.6 105741 |#AF B8 45 56| 101] 16.8| 84.2
9384 | H= 50 58| 108| 27.6| 80.4 998fz |& %8 55 53] 108| 26.4| 81.6 105841 |& KiE 56 45 101] 16.8| 84.2
93941 |4EH HR= 54 54| 108| 27.6| 80.4 999% |& Ak 59 551 114] 32.4| 81.6 105941 |#818 & 58 541 112] 27.6| 84.4
206 Bl = 44 45 89| 8.4] 80.6|AE 100042 |IBA FEk 56 58] 114] 32.4| 81.6|AE 10604 [IEH R— 62 62| 124] 39.6| 84.4|AE
9414 |[=HE =it 45 50 95| 14.4] 80.6 100141 [J&%F ERF 44 45 89| 7.2| 81.8 106141 |75 FO5& 49 62 111] 26.4| 84.6
9424 |E= ==E 48 47 95| 14.4] 80.6 10024 |Z&=H EBEEF 43 46 89| 7.2| 81.8 10624 [ HE ¥Fi& 54 56| 110] 25.2| 84.8
94361 | FEk FnF 48 53] 101| 20.4] 80.6 RN TS 54 471 101 19.2| 81.8 10634 [l A EE£th 52 58] 110 25.2| 84.8
94441 [k BB 49 52| 101] 20.4] 80.6 1004461 LU 55 46] 101] 19.2] 81.8 106441 |58 1E 51 52| 103] 18.0] 85.0
94541 A 1Bt 51 501 101| 20.4] 80.6 10054 [#%3HF EZFEF 58 55| 113] 31.2| 81.8 10654 ANk HEIS 50 591 109| 24.0| 85.0
9464 |=hm 1T 61 52| 113| 32.4] 80.6 100642 |#AK &(th 51 62| 113] 31.2] 81.8 106641 |IUEH T 58 57| 115] 30.0] 85.0
94741 [;FH A 59 60| 119| 38.4| 80.6 100742 | B 49 57] 106 24.0| 82.0 10674z | KB BER 57 57] 114] 28.8| 85.2
28461 [|FE W= 4 47 88| 7.2| 80.8 10084 |h&WE Rl 52 60| 112] 30.0| 82.0 106841 |38 1@ 59 66| 125 39.6| 85.4
R B & 45 49 94| 13.2] 80.8 [ EAMESE 62 50] 112] 30.0| 82.0 10694 [AO = 52 60| 112] 26.4| 85.6
9504 |8 HEETF 52 48] 100 19.2] 80.8|AE 10106z |35 = 44 49 93] 10.8] 82.2|AE 107061 |&£% hZ 49 69| 118] 32.4| 85.6|AE
95141 [#EH FEZ 49 51 100] 19.2| 80.8 1011462 |BIRF J& 52 53] 105 22.8| 82.2 107141 |#EH IE$R 66 58] 124] 38.4| 85.6
9524ii |fEE 8hE 53 53] 106| 25.2] 80.8 101242 |RERE @ 56 55 111] 28.8| 82.2 107244 |AR Infd 64 60| 124] 38.4| 85.6
9531 |[£H #5H| 52 54| 106| 25.2| 80.8 101361 |[AKR #H2Z 55 56| 111] 28.8| 82.2 107341 |[EH £ 53 51 104| 18.0] 86.0
95441 |#iT ERE 57 55| 112| 31.2] 80.8 1014460 R (& 57 60| 117] 34.8] 82.2 1074461 |#3F 7= 61 55| 116] 30.0| 86.0
9554 [FAH F 50 62| 112| 31.2] 80.8 10154 [iIN &S 54 56| 110 27.6| 82.4 107541 | KA HEsh 53 63| 116] 30.0| 86.0
9564 [tEH HBRE 55 57 112] 31.2] 80.8 10164 (IO Et 57 59| 116] 33.6| 82.4 107641 |FR¥2 B 56 60| 116] 30.0| 86.0
95741 |[#BH FF 58 54| 112| 31.2] 80.8 101741 |k [EE 59 63| 122| 39.6| 82.4 1077461 |#8H — 64 58] 122| 36.0| 86.0
9584 [fEE EE 55 571 112] 31.2] 80.8 101841 | & =i 50 53| 103] 20.4| 82.6 10784 | & FIX 46 57| 103] 16.8] 86.2
9594 [fREH $Rth 54 45 99| 18.0] 81.0 101941 |EER E8;T 53 56| 109| 26.4| 82.6 107941 | KA Hsh 62 59 121] 34.8| 86.2
9604z [i%iB &h 54 51 105] 24.0] 81.0|AE 102042 |[£H 1= 54 55| 109] 26.4| 82.6| AE 10804 |B7iE  FllfE 54 66] 120 33.6| 86.4|AE
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SF5ESHA nUF5oauR

2023 &£ 8 B 1 H (k) ~ 2023%& 8 H 31 H (K

BEAER A TLRYT & L) * ok ok * * % * ok ok * P
FTEMHIFR : PAR x 2 WOORDOO®DO®® IN G0 @ @ @® @ @ @® @ ®
HDCP_EFR: (58) 40.0 (%) 40.0 5% BSEIES : NET-HOCP - £E AR - AY Y biXv s
HDCPFAR: (58) -5.0 (%) -5.0
Bz BERES 0UT [IN  [GROSS| HDCP| NET | IEfr | AL loUT [IN  [GROSS| HDCP | NET | | | B | AL oUT |IN  [GROSS| HDCP | NET |
108160 [®i%F IEF 67 59| 126) 39.6] 86.4
10826 |f&iT =% 63 56| 119] 32.4] 86.6
108361 |KH %R 51 60 111 24.0] 87.0
1084f% /& = 66 61] 127] 40.0] 87.0
108561 | &Il &HE 47 63| 110) 22.8] 81.2
T086% |mllm BB 93 63 116] 28.8] 87.2
108761 [#hEE FX 60 62 122) 34.8] 81.2
10884 |LUA FE 50| 65 115] 27.6] 87.4
10896 |[=#& +hE% 52 67) 119) 31.2] 81.8
10906z |#r)Il Bt 6] 54| 119] 30.0] 89.0|AE
109161 |H E4E 53 65| 118) 28.8] 89.2
109261 |HfAK BEAr 99 65| 124] 34.8] 89.2
10934 |'=he B 51 74| 125) 34.8] 90.2
109461 |=RH o83 64| 61| 125] 34.8] 90.2
109561 |S# FEX 53 64 117] 26.4] 90.6
1096 |2 =l 65 67 132] 40.0] 92.0
109761 |RIE E#H 66 67/ 133] 40.0] 93.0
109867 |F%F FIF 66 67 133] 40.0] 93.0
109961 | RA =K 11 62| 133] 40.0] 93.0
11004 [FHIE  Zh— 66 68| 134] 40.0] 94.0|AE
1101fs %A FE 65 71] 136) 40.0] 96.0
110261 |8 E— 58 79| 137] 40.0] 97.0
1103 [H)Il FE 67 72] 139] 40.0] 99.0
110442 [NIIE _#2 66 73] 139] 40.0] 99.0
110561 =@ M= 62 78] 140| 40.0]100.0
110661 |5k & 66 77] 143] 40.0[103.0
10761 37 R— 18 73] 151] 40.0[111.0
0 .0

11084 [IIA #HE 74 T1] 151] 40.
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